NELEET —HET —P2021 2022/ = LT ERABE 2 LR ABHERN
B

1. kBB
Banagl=R, M={xx<-1} N={x]x(x+2) <0}, mEHHAZBIERHNETR()
U

(2 () a)

Afxl-1=sx<0}pg {x|-1<x<0}
c. {xl-2<=x<-1} p {x[x<-1}

2. IR FERR
e -WEER AT, B E2-+7=3+2, MI=F )
A3 BV C3D5

3. AR
FHBET, BRI O

A EoEp TER | 20, Qi4rER PO SR ¥y <0

6 RSB R TAE

Cgma=bz4, Ma. bz bE—ARNF2 1S R I A

D. Vx€R, 27 =x?

1 o
sinx= Y x=

4. EFEE
ETFIREH, e+ 43 SpERX AN O

a 750 g (o3l ) (9

5. EFE
Efflar 0 Ha=1, mERTOREFERDRHEY ), Wi miEmEEd O
Hia
[ Srs
@E r &
}-=iEx+6 y=3+log, x
l.,—l
/ity /
&3

(1
-1
A (12l g 12 J c. (12) p [2+%)

6. T PR
PHERSS s, 4201 gyl




